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These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, Adam Fine and Dan Goff are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
Though they are actually caused by comets, these events are given their names because they appear to originate from a fixed point in the sky.  What are these astronomical events that occur as the Earth passes through a trail of fine particles left behind by a comet, causing hundreds of bright streaks of light in the sky?

ANSWER: meteor shower
2.
His best friend Clerval is murdered. Then, his wife Elizabeth is killed on their wedding night. He dies on Captain Walton’s ship while sailing north of the Arctic Circle. As a young teenager, he read the works of the great alchemists, and after studying modern science at Ingolstadt, he conceives his greatest creation. What title character created a monster that had no name in a novel by Mary Shelley? 

ANSWER: Dr. Victor Frankenstein
3.
The original incarnation of this show began in 1964, ran until 1975, and was hosted by Art Fleming.  After a short-term revival in 1978, it returned for good in 1984, with the question values ten times those of the original version.  What is this game show in which contestants must phrase their answer in the form of a question, hosted by Alex Trebek?

ANSWER:  “Jeopardy!”

4.
He was a terrible public speaker, and stopped the practice of making the State of the Union address a speech. Despite being regarded as a scrupulous Constitutionalist, he waged the First Barbary War without Congressional approval. He fathered six children with his wife Martha and as many as six with his wife’s half-sister, the slave Sally Hemings. What President do you see every time you pull from your pocket a nickel?

ANSWER: Thomas Jefferson
5.
The scientific journal Nature rejected his paper on beta decay, calling it “too remote from reality.” His experiments led to the creation of Chicago Pile-1, the first nuclear reactor, which ultimately helped the Manhattan Project. What physicist moved to the US, with his Jewish wife, in 1938 to escape the anti-Semitism of his native Italy? 

ANSWER: Enrico Fermi
6.
In 1769, he was murdered by a member of the Peoria tribe in what is now Illinois. Three years earlier, he had negotiated peace with the British. What leader of the Ottawas began a siege of Fort Detroit in 1763, sparking a rebellion that threatened British control of the Great Lakes region, but did not affect production of Trans Am automobiles?
ANSWER: Pontiac
7.
What is the gerund or present participle, in Spanish, of the Spanish verb hablar (ah-BLAHR)?

ANSWER: hablando (ah-BLAHN-doh)

8.
This artist became famous in 1958 when gallery owner Leo Castelli visited Robert Rauschenberg’s studio, and enjoyed this man’s work.  He often incorporated plaster relief into his paintings, such as Target with Four Faces, but is best known for his renditions of American flags.  Name this artist who appeared in an episode of “The Simpsons” as a kleptomaniac.


ANSWER:  Jasper Johns 

9.
THIS IS A COMPUTATION QUESTION. What is the surface area of a sphere with a diameter of 8 miles?

ANSWER:
64 pi square miles
10.
Its isotope of mass number 90 is a major byproduct of an atomic bomb explosion.  Name this element with atomic number 38 and symbol Sr.

ANSWER:
strontium
11.
This religious observance’s Tridentine form was changed after Vatican II with a “New Order.” The Kyrie (kee-REE-ay) and Gloria chants are performed near its beginning, and showing up after the Gospel reading does not fulfill the Sunday Obligation. What is this main religious service of the Roman Catholic Church?

ANSWER: Catholic Mass

12.
Many self-employed people can obtain a SEP (spell it out) or a SIMPLE (say it) type of it. In 2006, the maximum contribution is $4,000 for people under age 50, and IRS regulations control what sorts of investments can be made in one. Most people have either a Roth or “traditional” variety of what old age savings plan?

ANSWER: Individual Retirement Accounts or IRAs

13.
This four-letter word describes a position in gymnastics and diving where the legs are kept straight and together, and the athlete touches her or his feet. It can also describe a freshwater fish, or an abbreviation for a type of toll road. What word was also a medieval infantry weapon, consisting of a twelve-foot spear?

ANSWER: pike
14.
This writer created the character, Major Kovalyov (koh-VAH-lyoff), that lost a body part in his short story, “The Nose.” A minor bureaucrat is mistaken for an important official in his play, The Inspector-General. What Russian writer is best-known for a novel in which Mr. Chichikov tries to buy the rights to deceased serfs, Dead Souls? 

ANSWER: Nikolai Gogol

15.
This disease is diagnosed when BMD goes 2.5 standard deviations below the peak, which is reached at age 20. Boniva and Fosamax are used to treat what bone disease, characterized by brittle, easily broken bones?

ANSWER:
osteoporosis
Second period, 10 directed questions per team, 10 points each
Set A questions have an “A” after their number; set B questions have a “B.” 

1A.
Julius Caesar expanded it to 900 people, ultimately breaking its power. What governing body of the Roman Republic had 300 members who were appointed for life?

ANSWER: Roman Senate
1B.
THIS IS A COMPUTATION QUESTION. How many 352 yard drives would Tiger Woods have to hit to travel a total of 8 miles?

ANSWER:
40 drives

2A.
What fairy tale by the Grimm brothers features a poor woodcutter, a wicked stepmother and a wicked witch who builds an edible house to entice children?

ANSWER: Hansel and Gretel
2B.
It is thought that one of these exists at the center of the Milky Way.  What are these objects, often caused by the collapse of massive stars that absorb energy and do not allow light to escape?

ANSWER: black hole
3A.
What type of polygons make up the faces of a regular octahedron?

ANSWER:
triangles

3B.
Newport News Shipbuilding and Archer Milton Huntington founded what museum in 1932 that displays several items from the U.S.S. Monitor?

ANSWER: Mariners’ Museum

4A.
Negative two is the charge, but what is the chemical formula for the carbonate anion (an-EYE-un)?
ANSWER:
CO3
4B.
The short stories “If Grant Had Been Drinking at Appomattox” and “The Secret Life of Walter Mitty” were written by what American humorist? 

ANSWER: James Thurber
5A.
What first openly gay member of Congress was involved in the 1983 Congressional page scandal, and passed away on Saturday, October 14? 

ANSWER: Gerry Studds
5B.
Which country has won soccer’s World Cup a record five times?

ANSWER:  Brazil
6A.
THIS IS A COMPUTATION QUESTION. What is the value of 7 factorial?

ANSWER:
5040
6B.
Strings and horns represent the two title characters in what children’s orchestral composition by Sergei Prokofiev (proh-koh-FEE-eff), also featuring a duck, a cat, and a grandfather?


ANSWER:  Peter and the Wolf
7A.
The paranoid Captain Queeg is in command of the title ship in what novel by Herman Wouk, where the officers eventually remove the captain from command? 

ANSWER: The Caine Mutiny
7B.
Shah Jahan of the Moghul dynasty built what mausoleum after the death of his wife Mumtaz? 

ANSWER: Taj Mahal
8A.
Madonna and Britney Spears have been associated with what branch of Jewish mysticism? 

ANSWER: Kabbalah (kah-BAH-luh)

8B.
According to Kepler’s first law, what shape are planetary orbits?

ANSWER:
ellipse or elliptical
9A.
Fluoxetine (floo-AWK-seh-teen) is the scientific name of what antidepressant? 

ANSWER:
Prozac
9B.
When referring to a proboscis (pro-BOH-siss), what part of the human body is being referred to?

ANSWER: the nose 

10A.
What priest from Detroit made thousands of radio broadcasts between 1926 and 1942, eventually turning against Roosevelt and becoming increasingly anti-Semitic? 

ANSWER: Father Charles Coughlin
10B.
What formula states that the area of a triangle is equal to the square root of the quantity semiperimeter times (s minus a) times (s minus b) times (s minus c) end quantity?

ANSWER:
Hero’s formula or Heron’s formula

Third period, 15 toss-ups, 10 points each

1.
The slave trade was abolished in the District of Columbia. Texas got $10 million to give up its western claims. Popular sovereignty would guide the New Mexico and Utah Territories. California was admitted as a free state. The Fugitive Slave Act required all citizens to help return runaway slaves. These five bills were what compromise that required the services of a nearly-dead Henry Clay? 

ANSWER: Compromise of 1850 

2.
In the United Kingdom’s Parliament, a bill that dies at the hands of one has been “talked out.” Last year, the so-called “nuclear option” was discussed to prevent Democrats from using it in the Senate. The votes of 60 Senators are needed to bring cloture to what attempt to delay or defeat a bill through lengthy debate?

ANSWER: filibuster (prompt on “debate”)

3.
Officially called IEEE 802.15.1, it gets its name from a 10th century Danish king known for getting warring parties to talk. It can connect disparate devices like cell phones, PDAs and laptops. Name this standard for wireless personal area networks that is less secure, but easier to set up, than WiFi. 

ANSWER: Bluetooth (DO NOT accept “WiFi”, they are two different standards.)
4.
In the sentence, “I sang the song tonight,” what is that sentence in the simple future tense?

ANSWER: I will sing the song tonight or I shall sing the song tonight
5.
He was the third celebrity eliminated on the UK TV show The Farm, which is similar to “Big Brother.”  On the third season of The Surreal Life, he met Brigitte Neilsen, and they later co-starred on Strange Love.  Who is this celeb-reality star of his own Bachelor-style show, perhaps better known as a rapper from Public Enemy?

ANSWER:  Flavor Flav (born William Jonathan Drayton Jr.)

6.
This sea gets its name from the Frisians who lived on its southern shores. In the 1970s and 1980s, countries along its shores prospered from oil, although less and less of its Brent crude is being pumped. The Danes sometimes call it the Western Ocean, but what sea, known for centuries as the German Sea, also borders Norway and the UK? 

ANSWER: North Sea
7.
Abraham Lincoln was said to have had what disease, named for a French pediatrician, that is a connective tissue disorder characterized by unusually long limbs?

ANSWER:
Marfan syndrome

8.
Her crown sometimes contained a vulture, and in the ancient world she was known to protect sailors.  The daughter of Geb and Nut (NOOT), she fled to the swamps of Khemnis in the Nile Delta in order to give birth to Horus.  Who was this Egyptian goddess, the sister and wife to Osiris?

ANSWER:  Isis
9.
At the end of the poem, the narrator expresses hope that he will lie down by the title character “In her sepulchre there by the sea / In her tomb by the sounding sea.” At a young age, the title character had “her highborn kinsman came / And bore her away from me.” The narrator had met the title character “many and many a year ago / In a kingdom by the sea” in what poem by Edgar Allan Poe? 

ANSWER: “Annabel Lee”

10.
Lutherans start this process in rare situations, though the process usually requires a vote by the congregation, recently in the case of Dennis Rader, the Wichita BTK killer.  More commonly found in the Catholic Church, a Zambian archbishop recently received it for installing four married men as bishops. What punishment also received by Martin Luther, Joan of Arc and other heretics is a disassociation from the church? 

ANSWER: excommunication
11.
Her later novels such as Sapphira and the Slave Girl are not well-known, although Death Comes to the Archbishop is probably the best-known of her later works. Who is perhaps best-known for her novels set on the prairie, including A Lost Lady, The Song of the Lark, O Pioneers! and My Antonia? 

ANSWER: Willa Cather
12.
For thirty-seven years, this tasty treat was available in only one flavor:  chocolate.  In 2006, however, vanilla became the second flavor for what frozen dairy dessert at Wendy’s that comes in four sizes, and is served with both a straw and a spoon?

ANSWER:  Frosty

13.
THIS IS A COMPUTATION QUESTION. Solve for x and y.  2x plus 3y equals 15 and 5x plus 2y equals negative one.

ANSWER:
x equals -3 and y equals 7 (either order is acceptable)

14.
In areas under his control, he launched the New Life Movement to return to Confucian morality. Despite receiving billions in Lend-Lease aid, he fought the Japanese half-heartedly, preparing for a civil war, which he eventually lost in 1949 after the fall of Chengdu. The Chinese Communists under Mao Zedong forced the exile to Taiwan of what leader of the Chinese Nationalists and the Republic of China? 

ANSWER: Chiang Kai-shek or Jiang Jieshi

15.
In 1832, it hit Paris; in 1849, it killed former President James K. Polk; and in 1991, it hit South America.  Name this water-borne disease, caused by a bacterium in the Vibrio genus, that causes profuse diarrhea.

ANSWER:
cholera
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Instructions printed on them include the following:  “From the sale of stock you get $45”.  “You have won second prize in a beauty contest – collect $10”.  “You are assessed for street repairs – pay $115 per hotel”.  Identify these yellow cards, the partners to the orange “Chance” cards in a standard game of Monopoly.


ANSWER:  Community Chest cards

2.
In March of this year, the citizens of Milan expelled the Austrians. The Polish Grand Duchy (duh-CHEE) of Poznan rebelled unsuccessfully against the Prussians. Austria-Hungary nearly fell apart, with additional rebellions in Bohemia and Hungary. It also saw the establishment of France’s Second Republic. What year was the “year of revolutions” in Europe?

ANSWER: Revolutions of 1848
3.
In Valinor, his name was Olorin (oh-LOH-reen). He received the ring of Cirdan the Shipwright. He turned down the leadership of the White Council in 2463, despite having driven “the Necromancer” out of Dol Guldur in 2063. He fought in the Battle of Five Armies with his sword Glamdring. Who was slain in Moria by a Balrog and imprisoned atop Orthanc by Saruman during The Lord of the Rings? 

ANSWER: Gandalf the Wizard (accept “Gandalf the White” or “Gandalf the Grey”)

4.
Discovered in 1928, it earned its namesake the 1930 Nobel Prize in Physics.  Name this scattering of monochromatic light as it passes through a transparent medium.

ANSWER:
Raman effect

5.
A squared plus b squared equals c squared is what theorem where a and b are right triangle legs and c is the hypotenuse?

ANSWER:
Pythagorean theorem

All questions ©2006 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

